

June 2012
6666 Core Mathematics C4
Mark Scheme

Question Number	Scheme	Marks
<p>1.</p>	<p>(a) $1 = A(3x-1)^2 + Bx(3x-1) + Cx$ $x \rightarrow 0$ $(1 = A)$ $x \rightarrow \frac{1}{3}$ $1 = \frac{1}{3}C \Rightarrow C = 3$ any two constants correct Coefficients of x^2 $0 = 9A + 3B \Rightarrow B = -3$ all three constants correct</p>	<p>B1 M1 A1 A1 (4)</p>
	<p>(b)(i) $\int \left(\frac{1}{x} - \frac{3}{3x-1} + \frac{3}{(3x-1)^2} \right) dx$ $= \ln x - \frac{3}{3} \ln(3x-1) + \frac{3}{(-1)3} (3x-1)^{-1} (+C)$ $\left(= \ln x - \ln(3x-1) - \frac{1}{3x-1} (+C) \right)$</p> <p>(ii) $\int_1^2 f(x) dx = \left[\ln x - \ln(3x-1) - \frac{1}{3x-1} \right]_1^2$ $= \left(\ln 2 - \ln 5 - \frac{1}{5} \right) - \left(\ln 1 - \ln 2 - \frac{1}{2} \right)$ $= \ln \frac{2 \times 2}{5} + \dots$ $= \frac{3}{10} + \ln \left(\frac{4}{5} \right)$</p>	<p>M1 A1ft A1ft M1 M1 A1 (6) [10]</p>

Question Number	Scheme	Marks
2.	<p>(a) $V = x^3 \Rightarrow \frac{dV}{dx} = 3x^2$ *</p> <p>(b) $\frac{dx}{dt} = \frac{dx}{dV} \times \frac{dV}{dt} = \frac{0.048}{3x^2}$ At $x = 8$ $\frac{dx}{dt} = \frac{0.048}{3(8^2)} = 0.00025 \text{ (cm s}^{-1}\text{)}$</p> <p>(c) $S = 6x^2 \Rightarrow \frac{dS}{dx} = 12x$ $\frac{dS}{dt} = \frac{dS}{dx} \times \frac{dx}{dt} = 12x \left(\frac{0.048}{3x^2} \right)$ At $x = 8$ $\frac{dS}{dt} = 0.024 \text{ (cm}^2 \text{ s}^{-1}\text{)}$</p>	<p>cs0 B1 (1)</p> <p>M1</p> <p>2.5×10^{-4} A1 (2)</p> <p>B1</p> <p>M1</p> <p>A1 (3)</p> <p>[6]</p>

Question Number	Scheme	Marks
3.	<p>(a) $f(x) = \dots (\dots - \dots x)^{-\frac{1}{2}}$ $= 6 \times 9^{-\frac{1}{2}} (\dots)$</p> <p>$\frac{6}{9^{\frac{1}{2}}}, \frac{6}{3}, 2$ or equivalent</p> <p>$= \dots \left(1 + \left(-\frac{1}{2}\right)(kx) + \frac{\left(-\frac{1}{2}\right)\left(-\frac{3}{2}\right)}{2}(kx)^2 + \frac{\left(-\frac{1}{2}\right)\left(-\frac{3}{2}\right)\left(-\frac{5}{2}\right)}{3!}(kx)^3 + \dots \right)$</p> <p>$= 2 \left(1 + \frac{2}{9}x + \dots \right)$ or $2 + \frac{4}{9}x$</p> <p>$= 2 + \frac{4}{9}x + \frac{4}{27}x^2 + \frac{40}{729}x^3 + \dots$</p> <p>(b) $g(x) = 2 - \frac{4}{9}x + \frac{4}{27}x^2 - \frac{40}{729}x^3 + \dots$</p> <p>(c) $h(x) = 2 + \frac{4}{9}(2x) + \frac{4}{27}(2x)^2 + \frac{40}{729}(2x)^3 + \dots$</p> <p>$\left(= 2 + \frac{8}{9}x + \frac{16}{27}x^2 + \frac{320}{729}x^3 + \dots \right)$</p>	<p>M1</p> <p>B1</p> <p>M1; A1ft</p> <p>A1</p> <p>A1 (6)</p> <p>B1ft (1)</p> <p>M1 A1 (2)</p> <p>[9]</p>

Question Number	Scheme	Marks
4.	$\int y dy = \int \frac{3}{\cos^2 x} dx$ $= \int 3 \sec^2 x dx$ $\frac{1}{2} y^2 = 3 \tan x \quad (+C)$ $y = 2, x = \frac{\pi}{4}$ $\frac{1}{2} 2^2 = 3 \tan \frac{\pi}{4} + C$ Leading to $C = -1$ $\frac{1}{2} y^2 = 3 \tan x - 1$	Can be implied. Ignore integral signs B1 M1 A1 M1 or equivalent A1 (5) [5]

Question Number	Scheme	Marks
5.	(a) Differentiating implicitly to obtain $\pm ay^2 \frac{dy}{dx}$ and/or $\pm bx^2 \frac{dy}{dx}$	M1
	$48y^2 \frac{dy}{dx} + \dots - 54 \dots$	A1
	$9x^2 y \rightarrow 9x^2 \frac{dy}{dx} + 18xy$	B1
	$(48y^2 + 9x^2) \frac{dy}{dx} + 18xy - 54 = 0$	M1
	$\frac{dy}{dx} = \frac{54 - 18xy}{48y^2 + 9x^2} \left(= \frac{18 - 6xy}{16y^2 + 3x^2} \right)$	A1 (5)
	(b) $18 - 6xy = 0$	M1
	Using $x = \frac{3}{y}$ or $y = \frac{3}{x}$	
	$16y^3 + 9\left(\frac{3}{y}\right)^2 y - 54\left(\frac{3}{y}\right) = 0$ or $16\left(\frac{3}{x}\right)^3 + 9x^2\left(\frac{3}{x}\right) - 54x = 0$	M1
	Leading to	
	$16y^4 + 81 - 162 = 0$ or $16 + x^4 - 2x^4 = 0$	M1
	$y^4 = \frac{81}{16}$ or $x^4 = 16$	
	$y = \frac{3}{2}, -\frac{3}{2}$ or $x = 2, -2$	A1 A1
Substituting either of their values into $xy = 3$ to obtain a value of the other variable.	M1	
$\left(2, \frac{3}{2}\right), \left(-2, -\frac{3}{2}\right)$	both A1 (7)	
		[12]

Question Number	Scheme	Marks
6.	<p>(a) $\frac{dx}{dt} = 2\sqrt{3} \cos 2t$</p> <p>$\frac{dy}{dt} = -8 \cos t \sin t$</p> <p>$\frac{dy}{dx} = \frac{-8 \cos t \sin t}{2\sqrt{3} \cos 2t}$</p> <p>$= -\frac{4 \sin 2t}{2\sqrt{3} \cos 2t}$</p> <p>$\frac{dy}{dx} = -\frac{2}{3}\sqrt{3} \tan 2t \quad \left(k = -\frac{2}{3}\right)$</p> <p>(b) When $t = \frac{\pi}{3}$ $x = \frac{3}{2}, y = 1$ can be implied</p> <p>$m = -\frac{2}{3}\sqrt{3} \tan\left(\frac{2\pi}{3}\right) (= 2)$</p> <p>$y - 1 = 2\left(x - \frac{3}{2}\right)$</p> <p>$y = 2x - 2$</p> <p>(c) $x = \sqrt{3} \sin 2t = \sqrt{3} \times 2 \sin t \cos t$</p> <p>$x^2 = 12 \sin^2 t \cos^2 t = 12(1 - \cos^2 t) \cos^2 t$</p> <p>$x^2 = 12\left(1 - \frac{y}{4}\right) \frac{y}{4}$ or equivalent</p> <p><i>Alternative to (c)</i></p> <p>$y = 2 \cos 2t + 2$</p> <p>$\sin^2 2t + \cos^2 2t = 1$</p> <p>$\frac{x^2}{3} + \frac{(y-2)^2}{4} = 1$</p>	<p>B1</p> <p>M1 A1</p> <p>M1</p> <p>A1 (5)</p> <p>B1</p> <p>M1</p> <p>M1</p> <p>A1 (4)</p> <p>M1</p> <p>M1 A1 (3)</p> <p>[12]</p> <p>M1</p> <p>M1 A1 (3)</p>

Question Number	Scheme	Marks
8.	(a) $\vec{AB} = \begin{pmatrix} 8 \\ 3 \\ 4 \end{pmatrix} - \begin{pmatrix} 10 \\ 2 \\ 3 \end{pmatrix} = \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix}$	M1 A1 (2)
	(b) $\mathbf{r} = \begin{pmatrix} 10 \\ 2 \\ 3 \end{pmatrix} + t \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix}$	M1 A1ft (2)
	(c) $\vec{CP} = \begin{pmatrix} 10-2t \\ 2+t \\ 3+t \end{pmatrix} - \begin{pmatrix} 3 \\ 12 \\ 3 \end{pmatrix} = \begin{pmatrix} 7-2t \\ t-10 \\ t \end{pmatrix}$	M1 A1
	$\begin{pmatrix} 7-2t \\ t-10 \\ t \end{pmatrix} \cdot \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix} = -14 + 4t + t - 10 + t = 0$ <p>Leading to $t = 4$</p> <p>Position vector of P is $\begin{pmatrix} 10-8 \\ 2+4 \\ 3+4 \end{pmatrix} = \begin{pmatrix} 2 \\ 6 \\ 7 \end{pmatrix}$</p>	M1 A1 M1 A1 (6) [10]
	<p><i>Alternative working for (c)</i></p> $\vec{CP} = \begin{pmatrix} 8-2t \\ 3+t \\ 4+t \end{pmatrix} - \begin{pmatrix} 3 \\ 12 \\ 3 \end{pmatrix} = \begin{pmatrix} 5-2t \\ t-9 \\ t+1 \end{pmatrix}$ $\begin{pmatrix} 5-2t \\ t-9 \\ t+1 \end{pmatrix} \cdot \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix} = -10 + 4t + t - 9 + t + 1 = 0$ <p>Leading to $t = 3$</p> <p>Position vector of P is $\begin{pmatrix} 8-6 \\ 3+3 \\ 4+3 \end{pmatrix} = \begin{pmatrix} 2 \\ 6 \\ 7 \end{pmatrix}$</p>	M1 A1 M1 A1 M1 A1 (6)